—_— » \ hwvd
k20 EREER I 8B 128 ABERk (BF)
=5 N\EHNY ) —ERE(6744Yards Par 72)
g8 . 1288B8(8)
IVEJ—: 81%
His | 798
V) 2] g 237 V) 2] FhiE 237
1 INRZE T 70 (37.33) BKEBX HRABT 77 (37.40)
2 JIE $BEE  IPI5 70  (37.33) INEF BE AULEvD T (36.41)
WU KB oAz 70 (34, 36) 44 SBRFOB KkxBPLrHZ T8 (41.37)
4 ¥BB— IpcrITor  T1 (35.36) [E48 RER  wow 78 (39, 39)
BRE BEE @BmFyY 71 (34.37) 20 B FREE 78 (36, 42)
6 = @I thoasfe ks 72 (38, 34) 47 BB EM BB 79 (42.37)
jaE S =8 72 (37.35) fEh ;2B B5 79 (41,38
IEE 5T MW 72 (37.35) INIE HyeLX 79 (40, 39)
KE RE  wr@ 72 (36.36) BARM ®r8 79 (40, 39)
BE IS FIEE 72 (36.36) B & BFEEAR 79 (39, 40)
26 SR 72 (36, 36) WA —% S velL=x 79 (35, 44)
12 2Bl —8B  zouvsoaux 13 (39.34) B B = 79 (34, 45)
jacyE I ERE 73 (36.37) 54 K ZE  wmy—vrr 80 (41,39)
NHBZESE =FE 73 (34,39 =SB RSA -2 80 (40, 40)
MR FT &= 73 (33.40) e &z =2 80 (40, 40)
16 R (& ES 74 (39, 35) A =L L—tA 80  (37.43)
BEE 3 AL 74 (39, 35) 58 £ —AX AW - mRas 81 (41, 40)
RBINE xpru—-y 74 (39,35 =T =T A== 81 (40, 41)
DPH BN teamkcava—» 74 (38, 36) =oR —i8 B 81 (38, 43)
BRIR 85— BB 74 (36.38) BKIRE »PaLFvo 81 (38,43)
REF #— =18 74 (36, 38) W Bfe & 81 (37,44
22 P FBEY RPEILX 75 (39, 36) 63 FEH #HE & 82 (46, 36)
£3 &8 BTE 75 (38,37 BR fio— #HE 82 (42, 40)
EH 850 T 75 (38,37 HibER R SitE 82  (41.41)
=B FNY xFELroz 75 (38.37) bl 08B K% 82  (41.41)
B0 BE SR 75  (37.38) AR ER Pk 82 (40,42
Az =X  am 75 (36, 39) EH EY BmFyy 82 (39, 43)
28 [hHB X E% 76 (39, 37) ME XL BR 82 (39, 43)
NF HE =B 76 (39.37) 25 — EREEY 82  (38.44)
HE EE wos 76 (38, 38) 7 AR IE— #% 83  (42.41)
a8 LI Frweo 76 (38, 38) INE K KkpPoU—>Y 83 (41,42
AN RSB xkEHU—->  T6  (37.39) =& EE GMG/\EF 83  (40,43)
B £17 18w 76 (37.39) T EEBE B 83 (39,44
MNB &2 WwAYE 76 (36, 40) SH R =8-®3 83 (39,44
35 T8 2R ®mW 77 (40.37) KIN FEf  Hre)Lx 83  (37.46)
Bt 8t BgR 77 (40.37) 77 008 TBB PRy 85 (40, 45)
=5 i’ Jegs 77 (39.38) 78 O FE  —2y37 89 (40, 49)
B2 P =8 118 77 (39.38) 79 UZ L= sruvs-7> 91 (41,50)
e IFE =ST%[ 77 (39.38) xi5 1S LF ==
A —/\  EAER 77 (38, 39) x5 5 B2 BES
EK $¥—BB mB72 77 (38.39)



